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Precal: Review 7.1-7.2

Simplify the expression.

1. tanx-cscx

5 Secx — COSX
' tan x
cotxy : 4 secx—cosx.

" escx —sinx o sinx .
secx .

5. 6. sinx-secx
cscx

Prove.

7. sinx+cosx-cotx =csCx

sinx-secx
8 —=1
tanx

9. sec(zzr— - uj =Ccscu



10, | cos(x - Zfz—) =sin x'

11.

12.

13

14.

15

16.

cos(x —y)+ cos(x + y) =2c0SX-COSYy

tan x

=sinx
secx

COSX -SeCx
——=cotx

tan x

(sinx +cosx)® =1+2sinxcosx

cosx sinx
4 =1

secx CSCX

sin?x + cos?x + tan?x = sec?x



Use the addition or subtraction formula to find the exact value.

17. cos75° 18. sin10°co0s20°+cos10°sin20°
19, cos-l—llzﬁ 20. sin 195°

tan 73° — tan13°
l+tan73°tan13°

21, tan 15°
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Fundamental Trig identttles

i

Reciprocal Id%ntltles Pythagorean ldeqtmes

sk ] sin x4+ cos? ¥ = |
{an “"‘"*”; . :

tan® x+1=see? x

cot? x+1 = cse? x

- HALF-ANGLE FORMULAS

-
i
: i
o F”"c‘acu
sm;m:t i of u l cow sinu
('m v &2 st

i\/’+c§3;‘f » e sine - [dcosn
2 2 ' | '
I

3 i :
i The cholce of the + or» sign depends on the éjuadra atin which

tios

Addition and Subtraction Formulas

¢ Formulas for sin: sin(s+1) =sins. COS 14005 8 sint
SIN(S = 1) = §ins- o3/~ cos 5 -sin /

COS(S+ 1) = COS K COSL ~sin 5 esin {

¢ Formulas for cosine: SO8($ 1) = CO8 & COSI + sin g sind

tan s+ um 1

tan(s u)»l P e

{ s lan

*« Formulas for tangent: tang - ten/
fan(s ~1) = G

IHam “tant

PRODUCT-TO-SUM FORMULAS

- Lot o
Sin#cosy = —2-[sm( Htv)+ sm( u’ -]

cosusmv:?;»[sm(unw) sm(m -v)]

CoSHCOsY = %[c.os( H+v)+ cos(u v)}

smusm v=~»lcoﬁ(u v) w%(rHv)]

Double Angle Formulas
sin2x = 2-sin x-cos x
c0s 2x = cos? x —sin? x
2tan x

tan 2 = s
1 —tan” x

SUM~TO-PRODU¢T F.OR}VIULAS

+ - »
sinx-+siny = 2sin -2~—J~r‘o¢»-2~«

X+ X p
sinx —sin y = 2cos M'Lsm o
2 iy

cosm €Oy = ZCQS*E—Q()bxéy

iy
2







